5-8=-3

An equilateral triangle has
congruent (equal) sides and angles.
An isosceles triangle has at least 2
congruent (equal) sides.

7p

One thousand, six hundred and
fifty-eight

20, 40, 60, 80, 100, 120, 140,
160, 180, 200

834cm = 8.34m

A 3D shape has 3 dimensions,
some examples include cubes,
cuboids, pyramids, cylinders,
spheres...

£1 =100 pence
72.77

. 7x8=56,3x9=27
Any equivalent fraction, for example, 2/4, 4/8,5/10, 50/100

1.
12.

1/5 = 20%

. 12x8=96
. 3/10=0.3
21. 273

25.
26.

. 3/5
28.

29.
30.

13/14 .Wake up, Brush Teeth, Eat Breakfast,
Go to School, Have Lunch, Get Home from School

15.
16.

17.
18.

100, 95, 90, 85, 80, 75, 70, 65...

3,578

Hours, minutes, seconds,
milliseconds

Half past 2 on a clock (big hand to
6 and small hand halfway
between 2 and 3)

8 crayons each

A regular pentagon

The opposite of multiplying is
dividing

17 -4.8=12.2

665

An obtuse angle is between 90 and 180 degrees

90 degrees

Draw and labelled: 1p, 2p, 5p, 10p, 20p, 50p, £1, £2




